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For purposes of these examples, assume imbalances are current-month under-deliveries after

the 10th day of the month, unless otherwise specified:

Example #1 - Imbalance is greater than 50%, but less than (2.500) Dth

Total Usage (in Dth): 3,620
Total Imbalance (in Dth): (2,220)
Imbalance %: -61%

Result: Not a Default Imbalance, as 2500 Dth threshold not exceeded.

Example #2 - Imbalance is greater than 50% and (2,500) Dth

Total Usage (in Dth): 4,655
Total Imbalance (in Dth): (2,510)
Imbalance %: -54%

Result: Default Imbalance (only if after the 10th Day of the Month)

Example #3 - Cumulative prior/current imbalance is less than 30%

Current Month Prior Month Cumulative
Total Usage (in Dth): 3,554 12,454 16,008
Total Imbalance (in Dth): (1,409) (1,355) (2,764)
Imbalance %: -40% -11%

Result: Not a Default Imbalance

Example #4 - Cumulative prior/current imbalance is greater than 30%

Current Month Prior Month Cumulative
Total Usage (in Dth): 7,553 10,054 17,607
Total Imbalance (in Dth): (3,053) (2,445) (5,498)
Imbalance %: -40% -24%

Result: Default Imbalance

-17%



